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Section B (40 marks) Working steps must be shown in answering questions in this
section unless specified otherwise.
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31(2). | The total score of James was___(w=+25)
R s R (wH25) A& e 2
31(b). | (w+25)x2 =48 +44 )
w=21 5
The score of James in Round I was 21.
(w+25)x2=48+44 2
w=21 2
ERF - w A Bicd 21 & o 4
32(a). | The number is
(50 + 100 + 150 + 300 + 350 + 250)+6 2
=200 ’
Lok 1 Fp R s Bl p 2
2
(50 + 100 + 150 + 300 + 350 + 250)+6 ,
=200( ) 4
32(b). | Because The number of rooms booked in March is 150,
the number of rooms booked in April is 300, |
300—150 =150, 150>100
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The area of the trapezium is cm?.
BAjehem i 180  cm’ - 2
Because The shaded parts are triangles with a base of
(20—5—5)cm and a height of 12cm. The areas ;
both are: (20 —5—5)x12+2 = 60(cm?)
(Accept any other reasonable explanation)
LIS 28 - A JF.’K %K 520—5—5)cm~ B 7 12cm
Iz &35 m giﬁrz{:
(20—5—5)x12:2=60(cm?) (¢ gmja@: vE) |,
* 1 *(

/ disagree (*Circle the answer) 1
@R A A CFENE ) L4
The percentage of the price for a child to that of an adult on
the regular dayis__ 75  %.

2
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They paid $__ 1190  altogether for the tickets.
B PRER PR X A 1190 ° 2
She paid 5
(480%4+360%2 )x(1—10%) 5
=$2376
RN ,
(480%4+360%2 )x(1—10%) 5
=$2376 4
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35(a).

35(b).

35(c).

36(a).

36(b).

36(c).

Marks Marks
b A A
He got lucky bags at most.
BESTUEE__ 4 BIRR - 2
The serial number of that lucky bag was
AR R ehsi A 70 ° 2
He should go in the direction___southeast
R A= 3 o 5
san
""""""""""""""""""""""""""""""" (Accept any other correct answer)
__________________________________ (6 B A = ) 5
The volume of each portion of taro cake was
16x8%x4+4 2
= 128(cm’) 2
i FE A AR AL )
16x8x4+4 )
= 128(cm’) 4
The fraction was
3
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